PAPER-III
POLITICAL SCIENCE

Signature and Name of Invigilator
1. (Signature)

(Name)
2. (Signature)
(Name)

JIANNKIPA 17

Time : 2 '/, hours]

OMR Sheet No. :
(To be filled by the Candidate)

Roll No.

(In figures as per admission card)

Roll No. ; ’
(In words)

"

[Maximum Marks : 150

Number of Pages in this Booklet : 32

Number of Quest10n§ in this Booklet :75

Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.

2. This paper consists of seventy five multiple-choice type of
questions.

3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) Tohave access to the Question Booklet, tear off the paper

seal on the edge of this cover page. Do not accept a booklet

without sticker-seal and do not accept an open booklet.

Tally the number of pages and number of questions in

the booklet with the information printed on the cover

page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other

discrepancy should be got replaced immediately by a

correct booklet from the invigilator within thegperiod

of 5 minutes. Afterwards, neither the Question oklet
will be replaced nor any extra time will be gi

After this verification is over, the Test Bo"ﬂkflet umber

should be entered on the OMR Sheeé and the OMR

Sheet Number should be entered on this Test Booklet.

The test booklet no. and OMR sheetme: should be same.

In case of discrepancy in the number, the candidate should

immediately report the matter to the invigilator for

replacement of the test beoklet /“OMR Sheet.

4. Each item has four alternative rgsponses marked (1), (2), (3)
and (4). You have to darken theicircle as indicated below on
the correct raonse against each item.

(i)

(i)

@iv)

Example :
where (3) is the correct response.

5. Your responses to the iems are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
Jesponse at any place othier than in the circle in the OMR

{Sheet, it will not be evaluated. |
Read instructions given inSide carefully.

Rough Work is to be dong in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted=for the relevant entries, which may disclose your
identity, or use abusive lpnguage or employ any other unfair
means, such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.

9. Youhave to return the Original OMR Sheet to the invigilators

at the end of the examination compulsorily and must not
carry it.with you outside the Examination Hall. You are,
however, allowed to carry original question booklet on
conclusion of examination.

10. Use only Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is no negative marks for incorrect answers.

13. In case of any discrepancy in the English and Hindi versions,

PN

wherorat % forg Frw
1. 39 Je % I (Ea.E W S0 I 791 fafEn |
2. T WRA-UF H UEET 3 |

(iii) 39 ST % A TA-GRTH H TR OMR T W 3k
OMRWWW%HWWW&%WW%I

(w)w:rgqﬁ:’m 3 OMR 56 <. 99 g9 =18 | I

WW/OMRWW

fﬂ?ﬁﬁ%aﬁ

4. mw%ﬁv{quﬁwa) (2) Q)T 4) ™
¥ | SR T TR % g B O § RHT HIo BT & SH
ﬁﬁ%@mg%. @
JTEIT
aa%mw%w%

5. T 3 SR chaet N9 QRAe! % A=Y G T OMR b 0 al 3ifeha
wﬁ%mﬁrWOMwaﬁénﬁ o STATN TRl 3T
T T 3T TeeAitehe et %a‘rmnﬂﬁﬂqﬁzﬁm

6. Wﬁ'ﬁn&ﬁé&ﬁﬁmﬁa; -
7. % M (Rough W gﬁ?m | g2 W HY |
8. aﬁaﬂqog\ﬂgu%a"cﬁg;%w - Tt

T T T AR ST | BRI Fe T 5ol F-greTshr
S T A ST GHS © | w

10. e U & & TR B |
11. ﬁwﬁsﬂ%mmwmmmﬁm

AT afeaa ¥
12. T I % TIQ 1E TbRTeTH e T2 & |
13, 3 st a1 f Wﬁaﬁéﬁ@ﬁﬁﬁ&ﬁ?ﬁﬁﬂ?ﬂ

Afq I S |

English version will be taken as final.

JA-002-17 |

P.T.O.

www.examrace.com



POLITICAL SCIENCE
PAPER — Il

Note : This paper containseventy five (75)objective type questions bko (2) marks eachAll
guestions are compulsory.

1.  Who of the following said, “An important fution of Political theory is not only to show
what a political practice is bwalso to show what it means. In showing what a practice
means, or what it ought to mean, Polititedory can alter what it is” ?

(1) G.H. Sabine (2) Leo Strauss
(3) Michael Oakeshott (4) Isaiah Berlin

2. Who among the following disputed the viglaat human behaviour could be adequately
described without reference to the intentionstives and reasons of the actors involved ?
(1) Peter Winch (2) C.Hul
(3) D.Hume (4) R.A.Dahl

3. Match the List-I with List-1l and selectéhcorrect answer from the codes given below :

List — | List—11 |
(Authors) ('Concephs) ,;-
a. John Rawls I. Equality of What'? ’
b.  John C. Harsanyi ii. Primary Goods Reconsidered
c.  Richard J. Arneson iii. Justice as Fairfiess
d.  Alex Callinicos I,  fThe Maximin Principle
Codes :
a b c d
1 i i iii iv
(2) i i i iv
(3) i iv i i
4) iv iii [ i

4. Given below are two statements, one lazblas Assertion (A) and other labeled as

Reason (R). Select the correct aasivom the codes given below :

Assertion (A) : Lenin produced a new theory diie revolutionary function of the
intellectuals.

Reason (R) :The ideas and not the material cioths of production are the effective
causes of revolution.

Codes :

(1) Both (A) and (R) are true and)(R the correct explanation of (A).

(2) Both (A) and (R) are true, but (R)not the correctlanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.
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€, 3T27ET ST /T 37 BT e, TSI g S9! a8eT Gehal & S a8 & 2
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(3) TIEH AT (4) TOEE So

2. TaftatEa § 9 e 39 foar o1 @7 [0 [ 9e s9aer &1 I9% 9 § 90 IMHA Sl &
Y, I2YT AT HRON o GH & fae 1 9t feomar <1 Feherr & ?
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(3) am (4) 3R T@A
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a b C d

1) i i ii iv

(2) iii i i iv

(3) iii iv i i

(4) iv ii i i

4., S @A A T E s iR (A) 3 T H A% (R) FE1 TR | AN 73 T g
TR Y TRl IR g
AP (A) : A F FRgSTitaal & ShifdeRt S 1 T 72 (9T T (6 |

T (R) : hifd o T9TEl SHROT ScaE % o) eid &, = fob 3@l “fifaes fefaar |

T4

(1) (A) 3R (R) S 7 € 31X (R), (A) HT el LT E |

(2) (A) 3R (R) 3 97 &, A (R), (A) FT TEl Tl T2l ¢ |

(3) (A)FFE g (R)ITAE |

(4) (A)3EFE W (R)TAE |
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5.  Who among the following declared :

“For me morals, ethics, andligion are convertible term# moral life without reference
to religion is like a house built upon sand” ?

(1) Aurobindo (2) Savarkar
(3) Mahatmasandhi (4) Jayaprakash

6. Match the List-I1 with List-1l and selectéhcorrect answer from the codes given below.

List — | List—1I i
(Plato’s Dialogues) (Main Themes) { s
a. Symposium i. The sphere of Physics f f
b.  Philebus ii.  The sphere of Politics
c. Timaeus li.  Application of the theory of i-tjeas to the
sphere of ethics{ , "*_ ' {
d. Republic iv. The metaphygfcs of love
Codes : |
a b c d
Q) iv iii i i
2 i i il iv
(3) iii iv i [
(4) i [ iv iii

7. Given below are two statements, one lazblhs Assertion (A) and other labelled as
Reason (R) : Select the correct aasivom the codes given below :

Assertion (A) : No genuine understanding of Arisettan endorse thepinion that his
philosophical system was the opposite of Plato.

Reason (R) :Aristotle’s system is an attempt to Philosophize on idealism free from the
defects of Plato’s system.

Codes :
(1) Both (A) and (R) are true and)(R the correct explanation of (A).
(2) Both (A) and (R) are true, but (R)not the correctlanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.
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8. Given below are two statements, one lazklhs Assertion (A) and other labelled as
Reason (R). Select the correct aasivom the codes given below :

Assertion (A) : Machiavellism stands for double startiaf morals, onéor the ruler and
another for the private citizen.

Reason (R) :The ruler, as the creator of the stagejot only outside # Law, and outside
morality as well.

Codes :

(1) Both (A) and (R) are true and)(R the correct explanation of (A).
(2) Both (A) and (R) are true, but (R)not the correctglanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

9. Whose ideas of the following were inporated in the Philaphical radicalism of
utilitarianism ?

(1) Machiavelli (2) Thomalslobbes
(3) JohnLocke (4)7 Rousseau

10. Given below are two statements, one laloeldess Assertion (A) ah other labelled as
Reason (R). Select the correct aasfvom the codes given below :

Assertion (A) : Karl Marx is interpreted by somas an economic determinist but by
others as a humane socialist.

Reason (R) :The problem stems from the wide range and complex nature of his own
writings.

Codes :

(1) Both (A) and (R) are true and)(R the correct explanation of (A).

(2) Both (A) and (R) are true, but (R)not the correctlanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

11. Who among the following defined Civil poweaas “the right of making laws with
penalties... for the regulating and preservaigoroperty, and of employing the force of
the community, in the execution of suckvéa.. . All this only for the public good.” ?

(1) Machiavelli (2) Thomablobbes
(3) JohnLocke (4) Rousseau
Paper-Il| 6 JA-002-17

www.examrace.com
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TN Y Tl I g
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(1) et (2) it Bt
(3) i i 4) =

10. = §1 % 53 T E, U SR (A) SR T R 7% (R) T T E | A G T e @@
TR Y TR I I

ATHAT (A) : TS AN Hel AR Hl AT A Fafdenes % w0 § & €, Safh 3T 5%
AT TSR % & 9 J7e Hd § |
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T

(1) (A) 3R (R) 3 9 € 31T (R), (A) F1 el TR0 ¢ |

(2) (A) 3T (R)3HT T &, wifh (R), (A) T el ST Fal € |

() (A)TF T W (R) 3T E |

(4) (A) g, W (R)TIE |

11. FEfefEd 9 9 e Ares e i 99T 39 UK & §, ... g & fafFaid s qor
3Tk TLRIVT HH, TAT TH I 1 o] e H TUITT i WIS T ST A o o7 viferd o rer
faf a9 1 s 3 |t qraste fod & ford giar & 2

(1) et (2) i g
(3) i & (4) ==
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12. Who among the following said, ‘Ideology is the most elusive concept in the whole of
Social Science’ ?

(1) Martin Seliger (2) David McLellan
(3) J.B. Thompson (4) John Plamenatz

13. Arrange the following works of Sri Aurobindo hronological order Select the correct
answer from the codes given below :

a. Love and Death b.  The Life Divine

c. Essays on Gita d. Savitri : A Legend and a Symbol
Codes :

(1) a,b,dandc (2) a,b,candd

(3) b,d,aandc (4) d,a,bandc

14. Which one of the following statementsiist true in case of Liberalism ?

(1) Liberal thought focuses upon needs arnérests of the ‘indiual,” rather than
those of any group or ‘collective’.

(2) The liberals desire to create a sgciet which each individual is capable of
developing and flourishing to thellivess of his or her potential.

(3) Liberals do not believe in universalisnatindividuals are all of equal moral worth.
(4) Individual liberty is for liberals the Supreme Political Value.

15. Who among the following argued that ‘tbaly purpose for which power can be right
fully exercised over any member of a civilizedmmunity against his will, is to prevent
harm to others’ ?

(1) James Mill (2) Jeremy Bentham
(3) J.s. wmill (4) J.B. Priestley

16. In the year 1960, application of struclufunctionalism by Almond and Powell was an
application of

(1) Easton’s Framework of Political System
(2) Dahl'sPolyarely

(3) Lucian Pye’s Modernization Theory

(4) Rostow’s Theory of Stapes of Growth

17. Economics is value free, but political economy orginates in the context of the ideological
debate of the eighteenth tery is a comment made by

(1) Marx (2) Keynes
(3) Schumpeter (4) Amartygen
Paper-Il| 8 JA-002-17
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12. e 9 9 9 [hash 9 €, “ e Tmot Qi [ | gaifies JHe STauRen g 1 2
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(2) /RAR TH FES H AT FAT AR & OH UAE AR ST &HaT H Ul w907
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(3) SERAET EHHETE § 7€ fovard Tel i (o Ui SAfoRd i GHM A JradT &l € |
(4) ERETEE % ford daferer ST et e g € |
15. fr=fafed ® 9 i 39 o9 9 Gedd o % “f5d @ aaem & f6dt 95@ & S g w9
TITSRT BT STANT X HT THAT 3299 31T T THTH e I THT &7 2
(1) =g e (2) SRt g
() Suw. e (4) STt e
16. a9 1960 H 3TCTHUE TAT Ueel FRT TAATCHSE ThATTRATT 1 STFHART Ffofad § & fohae
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(1) = FI TSHIS ST HT el
(2) = = e
(3) I TS T SMYFRIRROT fagTT
(4) A 1 TR & TRT T I
17. oTRTET od o € W I STeiee 31eReEd! 98t & odiNeh W & G459 H & erdl
¢ | 7 frefofea & @ fopgent feopl & 2
1) = 2) W=
(3) X (4) omed @
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18. Which of the following is not an integjrpart of liberal constitutionalism ?
(1) Individual freedom (2) Toleration and consent
(3) Majoritanianism (4) Minority rights
19. The Presidential system operates mostassfully in the U.S.A. because of
(1) A strong two party system
(2) A well demarcated constitution
(3) Judicialreview
(4) Minorcontradctions in society
20. The House of Lords in Great Britain is mainly retained because
(1) Itis as importars the House of Commons.
(2) It plays an important role of checks and balances.
(3) Itacts as a judicial court.
(4) Itis maintained as an institution.
21. Given below are two statements, one laloelles Assertion (A) ah other labelled as
Reason (R). Select the correct aasivom the codes given below :
Assertion (A) : Huntington is correcin asserting that the combination of the role of the
state and government of the UResident is a medieval practice.
Reason (R) :It is because in other liberal democracies, the two roles are not combined.
Codes :
(1) Both (A) and (R) are true and)(R the correct explanation of (A).
(2) Both (A) and (R) are true, but (R)not the correctglanation of (A).
(3) (A)is true, but (R) is the false.
(4) (A)is false, but (R) is true.
22. The growth of judicial poweover the last one hundred yeardiberal democracies have
taken place because
(1) The constitutions have given the judiciary more powers.
(2) Acceptance of the theoof separation of powers.
(3) The U.N. Directives.
(4) Protect Human Rights.
Paper-Il| 10 JA-002-17
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22. TS U A aut H SIRER! SAlwas H =G ViR 1 [ehr gt & Hifh
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(4) THATYHR H T
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23. Environmental Green parties originated from
(1) Breakaway from main stream political parties.
(2) Pressure of public opinion
(3) Emergence of a planetary consciousness
(4) Newsocialmovements

24. Duverger’s theory asserts tleatwo party system emerges in a
(1) representationglarliamentary system.
(2) homogeneousolitical order.
(3) welfarestate
(4) a majoritarian parliamentary system.

25. The first use of the concept pblitical culture was made by
(1) Gabriel Aimond (2) G. Bingham Powell, Jr.
(3) Karl Deutseh (4) Lucian Pye

26. Which one of the following orientations is not a paftthe basic types of ftcal

culture ? -
(1) Cognitive orientations (2) Affective orientations
(3) Evaluative orientations (4) Individual orientations

27. The progressive comparativists in politicEvelopment do not emphasize in one of the

following :
(1) Underdevelopment (2) Dependency
(3) Imperialism (4) Modernization

28. The Theory of Modernization and decay is formulated by
(1) Rostow (2) Pye
(3) Huntington (4) Lipset

29. Which of the following is not an essentiabpequisite for making elitism compatible with
democracy in Schumpeter ?

(1) The calibre of politicians must be high.

(2) Competition is to take place wirtha relatively restricted range.
(3) Presence of a well treed independent bureaucracy.

(4) A well organised party system.
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23. AR et g 3ol 1 3q0d e § ¥ e gaT
(1) TETURT & SIS Soil g2 eloh
(2) BT FHT aTS
(3) YHSAT T FHT AR
(4) T FEIS SRTeH
24, TAR % (GgF & IR §5eta yonelt H=fared 5 9 fheg SWRe o1 € 2
(1) wfataes Gesia yoTett
(2) UHEY TSI aT
(3) FHETHRT T
(4) TEHEIHAR! TR TOTeAT
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(1) et semrs (2) S foreg dider, SR
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(1) demeTe feafd-femoT (2) TR -
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27. SHITae [ | wfaarat qeramat FEfiad § 9 6 T a6 79 Sd § 2
(1) o7 fawm (2) fredear
(3) AR (4) YRR
28. ITYMREIT 3R 79T & HET 1 o FAfefad § & ®F € 2
(1) = (2 U=
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TaTaeT &l § ?
(1) TSTITAsT T ARETeeT Sa 8T & @t |
(2) TSR WTHA & § TR o e |
(3) gufvTTeTd Torcs ArRemer St St
(4) U g el Tl
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30. Beliefs and symbols are the distinctieatures of the notion of authority in
(1) Marx (2) Parsons
(3) Verba (4) Weber
31. Regarding the Interim Government of 1946, which of the following i€owect ?
(1) Jawaharlal Nehru was the Priiister/Head of the Executive Council.
(2) Jawaharlal Nehru watesignated as the Vice-President of the Viceroy’'s Executive
Council.
(3) The Viceroy continued to like Head of the Executive Council.
(4) The members of the Interim Goverent were members of viceroy's Executive
Council.
32.  Which one of the following statemenssnot correct regarding Certiorari ?
(1) A High Court can issue a writ agaiitself in its administrative capacity.
(2) A bench of a High Court can issue a woiainother bench of the same High Court.
(3) A High Court cannot issuevait to another High Court.
(4) A High Court can issue d@rari to a tribunal situad within itsjurisdiction.
33. In which one of the following cases the Supreme Court of India used the principle of
“continuing mandamus” ?
(1) S.P. Gupta Vs. Union of India
(2) Sunil Batra I.Vs. Delhi Administration
(3) Vineet Narain Vs. Union of India
(4) Sagir Ahmad Vs. State of U.P.
34. Who was the first President of lladio make use of ‘Pocket Veto’ ?
(1) Zakir Hussain (2) Sanjeeva Reddy
(3) R.Venkatraman (4) Gyani Zail Singh
35. Who said Indian federalism is “a new kindfefleration to meet Indis peculiar needs” ?
(1) Granville Austin (2) Ivor Jenneigs
(3) Alexandrowicz (4) Ronalvats
36. Adi Ambedkar Samaj movement is related to which State ?
(1) Maharashtra (2) Punjab
(3) Rajasthan (4) Uttdradesh
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30.

31.

32.

33.

34.

35.

36.

HRIAT 3R Ulies efoiad 5 9 frad |xr & o st fafne faoman € 2
1) 1o (2) g
(3) = (4) =

T 1946 SANH THR & Tae 7 FHeriad § § 1 Tel T8 & 2

(1) TR F6& FHA/HRESR UREg & o7egeT o |

(2) AR & T AT H! HEFRT URUS % IUTEAT 1 U 31 7w o |
(3) TR FHEBR! UREE & 3778 9 W |

(4) FARY THER % I TIERT H FHEGRT UREE & T8 & |

STV % Ty § Frfefad 8 @ HH-91 H2F 98 Tél 8 2

(1) S 3=T IR ST TS §Faad @ @ & foos aifae TR Y T € |

(2) Tohdr STa =maTed o TeUie U o =TT i 3 TEUIS i ATTaehT SIRT & bl € |
(3) T 3T R AT 31T ST ARG S ATTHT STRY el Y Tehell & |

(4) T IoH A 310 SRR T AT fohdl Aieehior i ST SRt T FeheT
T

fratafad § 9 g ame § 9YRA & S<ad9 e | ¢ 2AfoRd TR % Mg &1 SuanT {6
qr ?

(1) TEY, T S 9RT qh

(2) TS TALI T Eoelt TR

(3) foria ART=oT ST YRa |9

(4) TR 3EHT TAH IR UL T

“Yiehe A2’ ST SUANT T oA TR o U Ie2arq o
(1) TieRT Z& (2) Wt Te!
(3) IR, THIH (4) T e o

frfefaa & @ g8 feem e o1 fF 9RAE 9eE “Uh T TSR T 99 ¢ O fafre
SMATIHATST ! T A AT ?

(1) vAfget 3fifeA (2) IR SH

(3) IToiIgIast (4) TFTeS AEH

e STFIEeHT THIST <o ohd U9 9§ Geifud & ?
(1) w&RreE (2) W=
(3) TeT=IH (4) SR
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37. Who was the Chairman of the Groupmterlocutors for Jammu and Kashmir ?
(1) T.S.R. Subramanian (2) Dilip Padgaonkar
(3) Radha Kumar (4) Dr. Karan Singh
38. Which of the following statements is true about the constitution of P.K. Thungan
Committee ?
(1) To consider the type of political andnaidistrative structure eeded in the District
Planning.
(2) To consider the administratiaerangements for rural Development.
(3) To consider the need for decentralized planning.
(4) For drawing guidelines for Block level planning.
39. When did the Communist Party of India (Matyiemerge as a separate political party ?
(1) 1960 (2) 1964
(3) 1968 (4) 1973
40. Match the List-1 with List-1l and give theorrect answer from the codes given below :
List— 1 | Juist-1
(Case) { (Subject)
a. Rudal Vs. State of Bihar %, { I. Rightto i:IS/ fricolour
b. A.D.M. Jabalpur Vs. %hlv; Kantii. Right 'to know antecedents of
Shukla ) ¢ candidates for election
c. Union of India Vs. Naveen Jindal iii. Award of monetary compensation
d. Union of India Vs, Association foriv. Right to life
Democratic R?forms
Codes : '
a b c d
() i iV i i
(2) i iii iV [
3) i i iii \Y
4) iv [ i iii
41. Who described the critical and creative rolepofitics in India asthe Indian model of
development” ?
(1) Rajni Kothari (2) Amartya Sen
(3) Jagdish Bhagwati (4) James Maner
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37. fAfofad § 9 SR ST-5eHR o fo1d SuTourshal S0 o 3TeeT & ?
(1) g eIR. gerqoay (2) Tt geTiaE
(3) TN FR (4) I o aE
38. fHAfcRad § ¥ SF-91 %2 9., g7 AT & Ted & foud § &l § ?
(1) TS SESH | Savae TSI T TR ST o T W foar & |
(2) THIT fThTT & YR Yee &% IR foER e |
(3) Tochgiopd STESHI ot SMEAYIHAT T R AT |
(4) VT TR W AT &q SO R T |
39. 9 9 YRAE HHFRE U1 (HTRIETRT) Ueh g2k TSTHITceh UIel oh & H SHIHT 37T 2
(1) 1960 (2) 1964
(3) 1968 4) 1973
40. IHI-| F G-Il T GAfad Hifed aer 99 3 T $e ¥ @ W g
o [\ e
() \ /
a. 5ol 9 feReR T i, T e SRR
b. E.é.@.wwﬁmmm%ﬁ i W%&aﬁwﬁ%%wﬁw
! ﬂ-f HAYPR
C. YR | ST A ?ﬁq?i_‘ A i, Hifseh gaTrer &2 S
d. YRA ¥§F 9. TEEE@E  ®R v, S @ SAEER
ET
a b c d
(1) i v i i
@) i i v |
@) i i i iv
@) iv i i i
41. TAfcfEd ¥ e RA § ISHITT ! Feweyul a2 TeHTes JiHe 1 aui “fomm o IR
Hieer” & w9 | foar € ?
(1) TS R (2) 9 T
(3) STTRHRT Wt (4) | ER
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42. Match List-1 with List-11 and identify the goect answer from the codes given below :
List—1I List — I
(Event) (Year)
a. Millennium Development Goals Report i. 2010
b. National Commission for Women i. 2006
c. Ministry of Women and Child Development ii. 1992
d. National Mission for Empowerment of Women  iv. 2011
Codes :
a b C d
) i ii iv iii
(2) iv iii i [
(3) i )Y ii ii
(4) iii [ i iv
43. Who among the following made a significamintribution to theories of the Interaction
between social dominance and stpbwer in contemporary India ?
(1) Francine R. Frankel & M.S.A. Rao
(2) MyronWeiner
(3) Lloyd and Susane Rudolph
(4) ParthaChatterjee
44. Which one of the following Committees opposed the state funding of elections in India ?
(1) Justice B.P. Jeevan Reddy (2) Indrajit Gupta
(3) Tarkunde (4) DinesBoswami
45. Which of the following newspaper is managed by a trust in India ?
(1) Times of India (2) Indian Express
(3) Hindu (4) Tribune
46. Who among the following hold the view thanaidistration comprises of the work of only
those persons who are engaged in performmagagerial functions an organization ?
a. Luther Gulick b. Herbert Simon
c.  Victor Thomson d. Henry Fayol
Select the correct answer from the codes given below :
Codes :
(1) aandb (2) bandc
(3 b,candd (4) a,b,candd
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42. IEi-| H G-I  GAfad Hifed o T 53 T $e ¥ @ W g
=it - | =it - I
() (@)
a. Weans g oo Rue i. 2010
b. I AfeaT AT i. 2006
c. UEeT IR 1ot foshr Waerm i, 1992
d. U AfeeT TR YA v, 2011
FT
a b C d
1) i i iv i
) iv i i i
(3) | iv i i
() ii i i iv
43. TEfeRad § ¥ T8 THHeE IR § SIS T q9n 59 e & &g IR T &
fagTas A | Hew@yul ARH <1 € 2
(1) 3hERA 3R, Thebel O THUH.T, TG
(2) WA IR
(3) ©IS a1 gad weloh
(4) et =S
44, Tr=fafad @ F frea YR & g9 1 @9 T gR7 63 ST 1 Ty fopan & 2
(1) =i S, Siee @ (2) =S T
(3) drRFTE (4)  feever e
45, T=fefad 8 9 6T THMER-TT %1 Y6e TR | U =19 g7 {61 ST € ?
(1) <R 3 e (2) sfveas TEmE
Q) fx 4) feom
46. TAMREa 9 @ 7€ [T foar € i IR 39 Safeaal o & 8idr € S [at 9ed | Ueyshg
YehTaT ol T i | Hod &d ¢ ?
a. R a% b. &@C A
c. ooz amE= d. & %
T 52 T % ¥ el W g
T
(1) a3Rb (2) bsiRc
(3) b,c3d (4) a, b, eRd
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47. Which one of the following stages of evoariiof public administration is called the era of
politics administration dichotomy ?

(1) First stage (2) Second stage
(3) Third stage (4) Fourth stage

48. Which of the following are the salient faats of the New Public Management ?
a. Empowerment of Citizens
b.  Disaggregation of Public Bureaucracy
c. Cost-cutting
d. OrganizationaCentralization
Select the correct answer from the codes given below :

Codes :
(1) aandc (2) a,candd
(3) a,bandc 4) a,b,candd

49. ‘Squealer’ in the Human Relations theory is
(1) one who does too much work.
(2) one who does too little work.
(3) one who absents himself from work.
(4) one who communicates detrimental nnfiation about others to the supervisor.

50. Match the List-I with List-11 and selectéhcorrect answer from the codes given below :

List— | List—1I

a. Proverbs of Admin'i{stration i. Henry Fayol
b. Principles of Management ii. Herbert Simon
c.. Functiens of Executive iii. Morestein Marx
d Elements,?f P,_ublic Administration iv. Chester Barnard
Codes :

a b Cc d
Q) i [ iv iii
2 i i il iv
(3) i il iv [
(4) i iv i i
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A7. i WeTE & o o Efeifad § 9 6 =0T St TSTid-ome TS 6 g el S § 2
(1) Ve =ROT 6 (2) fge =RoT
(3) i =ROT (4) =q IO H

48. frfafad & | BF 9 6 i Tee i g fagand § 2
ANTRERT BT FLTSRAERIOT

a

b. Ik FETE! Ff fogfe
c

d

AT | Hr BT
T 52 7 e @ W@ s g

(1) a3iRc (2) a, &iRd
(3) abs3Rc (4) a, b, eRd

49. WY Gy fagrd § ‘T €
(1) e =Afe i Sga 21T & Far e |
(2) e AR ST 5d HH B FAT & |
(3) o AT STt I ¥ U T ¢ |
(4) o = ST T P 9N H BBHRE THBHR! JeeTh Bl a1 € |

50. ge-| S G-Il T GAferd S T e K T g ¥ TS g

-1 it — ||
a. W s TR L
b. T ot T ii. B WE
C. ThRST 3, UfesTR e jii. AR O
d. ufeiza o v TSRS v, TS
%! |
a b C d
1) ii i iv ii
2 i i ii iv
(3) i ii iv i
(4) iii iv i i
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51. Who among the following has defined budget“asseries of goals with price tags
attached” ?
(1) Wwildavsky (2) Paubppleby
(3) Chester Barnard (4) John D. Millet
52. Who among the following is th@eator of Zero-Based-Budgeting ?
(1) Hoover Commission (2) Peter A. Phyrr
(3) Herbert Simon (4) Gug Peters
53. What is the correct sequence of Morstein Marx’s classification of bureaucracy given
below :
a. Merit b. Patronage
c. Caste d. Gurdian
Select the correct answer from the codes given below :
Codes : 7 7
(1) d,c,banda (2) a,b,candd
(3) a,d,candb (4) d,a,bandc
54. Who among the former Prime Ministers had observed that “only a committed bureaucracy
could bring about soal transformation.....” ?
(1) JawaharlaNehru (2) MorarjiDesai
(3) Indira Gandhi (4) V.P. Singh
55. The purpose of an adjournment motion is to
(1) seek the leave of the House to introduce a bill.
(2) censure the Government.
(3) propose a reduction in the budget.
(4) draw the attention of the Houseatanatter of urgent public importance.
56. The First attempt to confer constitutios#tus on rural local government was made by
(1) the64™ Constitutional Amendment Bill
(2) the68" Constitutional Amendment Bill
(3) the72" Constitutional Amendment Bill
(4) the73° Constitutional Amendment Act
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51. TAfciEd # @ fFE- a9 & T T TH S@A HH HAd qradt Gord & % €9 H g
e ?
(1) foeeemnt (2) dfet TYeTat
}) SR EE 4) st free
52. FAfiEd B | $F I SR SS1e T Gl § ?
(1) &R HHEA (2) WX T R
(3) & EEA (4) T URE
53. T=fafad B @ i T W o ATl & SFTeheoT T el 3T & ?
a. Argar b. @
c. ST d. smnEs
T 52 T e @ WEl SR g
FT
(1) d,c,biRa (2) a, b, eRd
@) a d, &iRb 4) d,a barc
54, T=TatEd & 9 6 qd 7o w5t &1 [aer o o “Shaet it AIeeel & AT gRad= o
(1) SR o6& (2) TRRS S
(3) sf=wr e (4) =t faE
55. AT TS 1 3299 ¢
(1) Torat foees ot T8 | QRN X Sl SFHfd /AT |
(2) TR H =T HT |
(3) T F HH! A H AT FAT |
(4) ST Tk Tewd o ATl bl a0 TG T & SHE HET |
56. FAfciEd B & fohdeh FRT UTHIOT WIHIT IMET i GAHTeh ST I+ T Tgell TaTe fhar 71T o1 2
(1) 64 Hifaur-e Geme= fagees
(2) 68 Hifaur-e GeneH fages
(3) 72 WitauTeh TN foees
(4) 73 Hitaur-e GeneE fages
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57. Match the List-1 with List-1l and selecteéhcorrect answer from the codes given below :

List — | List -1l

a. Finance Commission i. Ashok Mehta Committee
b. Nagar Panchayats ii. "Y€ onstitutional Amendment Act
c. Democratic Decentralisation iii. ?4onstitutional Amendment Act
d. Mandal Panchayats iv. Balwantrai Mehta Committee
Codes :

a b c d
Q) i i v [
2) i ii iii v
(3) i v ii [
4) i iii [ v

58. Given below are two statements, one lalkeles Assertion (A) ah other labelled as
Reason (R). Select the correct aasfvom the codes given below :

Assertion (A) : The Principle of Unity of Command cannot always be strictly followed in
organizations.

Reason (R) : Employees are quite often subject to dual control administrative and
technical.

Codes :

(1) Both (A) and (R) are true and)(R the correct explanation of (A).
(2) Both (A) and (R) are true, but (R)not the correctelanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

59. e-governance is

a.  cost-efficient b. transparent
c. time-saving d. responsive
Select the correct answer from the codes given below :
(1) aandc (2) a,bandc
(3) a,candd 4 a,b,candd

60. Which one of the following Commissions/Conttees has recommended legal protection
to whistle blowers ?

(1) First Administrative Reforms Commission
(2) Second Administrative Reforms Commission
(3) VohraCommittee

(4) ElectionCommission
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57. G-I & G-Il @ gafer Sifsd qon e 5 T g @ W@ S g

e — | = — I
a. o= e . TN Hedm gt
b. TR UaEmEd ii. 734" GiferentTes Tene St
C. Al [IhsIAuT i, 74dT Witaen-e Teiee sitatag
d. Heod yumEd iv. Setad I Hedl |t
H
a b C d
1) ii ii iv i
() | i ii iv
(3) iii iv i i
(4) ii ii i iv
58. 9 3 Fu 53 T €, U P SAH (A) R T I T (R) FeT L | A I T P H
TN Y Tel ST 9
Afeme (A) : Tohd ST o TSI Y TehdT T UM TAT & UTerT =@} ohaT ST HebelT |
aF (R) : HHAR! TgT IheX =0T - TR TT qehh! o 3Teqei= aid ¢ |
AN
(1) (A) 3R (R)3HT T & 3% (R), (A) FT Tel TIEHT & |
(2) (A) 3R (R) 3HT T &, Al (R), (A) T TET TTEIHT T ¢ |
(3) (A)THE, WG (R) AT |
(4) (A)EIE, WI(R)FAT |
59. TIMAE
a. Nd S b. urgel
C. IUY g9T Pl Tod Bt € | d. sHkkaEETS
T 52 T Fe ¥ W@l IR g
(1) a3iRc (2) a, bR C
(3) a,c3d (4) a,b, sid
60. FAfeiiEd B & foh STam/Amaid + feaet sateRi & GXRToT i FawhIieT &t & 2
(1) Y= TR guR 3T
(2) TE TAHE GUR ST
(3) dew wiHfa
(4) T S
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61. Which one of the following arrangememtas not visualized by Morton Kaplan ?
(1) Balance of Power (2) Tight bipolar system
(3) Loose bipolar system (4) Unipolar system

62. Which one of the following is not the technique of the balance of power ?
(1) Amassing of weapons (2) Seizing of territory

(3) Methods of persuasion (4) Creating of buffer states

63. In 1999 NATO acted against Serbia accusingdtilging in act of ‘ethnic cleansing’ in
Kosovo. To this, other major powers such as Russia and China reacted as under :

(1) Russia criticised NATO acting without UN approval.
(2) China described NATO act as illegal
(3) Both Russia and China criticised NATO acting without UN approval.

(4) Russia and China remained non-committal on the issue.

64. Which one of the following was not the basnvoked by the US for attacking Iraq in
March, 2003 ?

(1) Iraq possessed weapons of mass destruction.
(2) Saddam Hussain had links with Al Quaeda.
(3) Regime Change in Iraq

(4) Iragq had not withdrawn from Kuwait completely.

65. ‘Common but differentiated’ responsibilitprinciple on climate mitigation agenda
emerged from

(1) Kyoto Protocol (2) Rio Earth Summit
(3) Rio+20 (4) Paris Climate Conference

66. Which of the following Republic/Republics s/aere supported by Russia in Georgian
war of 2008 ?

(1) SouthOssettia

(2) South Ossettia and Abkhazia both
(3) Abkhazia

(4) NogornoKarabakh
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61.

62.

63.

64.

65.

66.

frefefad & & forq e ot e Ao el 3 &l ol o9f ?
(1) wfert Fgem (2) oA fryee ot
(3) @it Teyei voet (4) TEHEE T

ffefiad & | i WfoRT Fqor ! Tk Tal & ?
(1) BfEmi =t S e (2) T8 T AR
(3) 31 =t fafet (4) % A T

9 19997 12t ¥ HieA W HHEl T ISAT WHEL T ARG oA A 36 fgedlh Hrare
H | T W T qAT A S T 3T At + 39 TR UTAHAT e i

(1) =T 99 T TG & STHIGT & {61 HRATS H & o2t el B ATeATeT i |

(2) = T AT S BNATE H IR-HA T | '

(3) I R T AT A TR T T & AR % o1 FNATE FA & o1 At - etrar
|

(4) w9 IR A I T/ AHA W SEEEE E |

o oo

et o 9 R e T SRR 3 T 2003 T W SRR H F AR TE S0 2
(1) = % I HEsh fomreT 1 efEm o | "

(2) WRETH §EH 1 WY 37T FIFST H T |

(3) T W T uRee

(4) T A FAT W QI 70 AR F AT FEl FART |

fAfefad & ¥ fhad 511 SToraTg. SUTHA SR % 9y H CqE W fOHgent SWwEie
g SHTHT 31T 2

(1) e Werke (2) Far geat forar arar

(3) ®ar+20 (4) URE SToTe] T

a9 20083 STISTET I H ®F §R1 Fefeiiad # 9 fors/foh TR/ RSt B Heg &l TE ?
(1) sfetor eTifear

(2) =T MfEar 3R SrerETSTET ST

(3) 3fe@TE

(4) AT B
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67. As per United Nations Convention on theaLaf Sea (UNCLOS) states are entitled for
Jurisdiction over sea water as under :

(1) three miles from sea shore as territorial waters.
(2) twelve miles from the shore for shipping.
(3) two hundred miles as Exclusive Economic Zone (EEZ)

(4) all the three jurisdictions.

68. India’s good neighbourhood polidased on the principlof non-reciprocitys attributed

to
(1) P.V. Narashima Rao (2) Inder Kumar Guijral
(3) A.B. Vajpayee (4) Rajiv Gandhi

69. Sir John Chilcot Commission has indicated
(1) U.K. forits conduct in U%d NATO war in Afghanistan
(2) U.K. forits conduct in Irag war in 2003
(3) US for its invasion in Iraq in 2003

(4) Russia for its attacks in Syria

70. The Washington consensus did not stand for
(1) Fiscaldiscipline
(2) Taxreforms
(3) Financial and Trade Liberlisation

(4) State Controlled Market System

71. Under Bush Doctrine, the USA held states oesyble for activities inside their territories
and thus acquired the right to

(1) actunilaterally against rogue and failed states.
(2) act against states whicheepposed to it ideologically.
(3) move against states which refusegbin in drive for NATO expansion.

(4) intervenean situdions of ethnic cleansing.
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67. TUX % BT FoH TR WL T (F TT G TeT 31 TH) & SR T5T TR STeT TR SAHR
T FHANT 30 W B

(1) THs a9 | oI Hiel ST ST a

(2) UUNERT & 9% A ¥ aRE Hid

(3) I IMMH &1F (3 T SIS) % €I H & A WA
(4) SR AT SR

68. WRd o URENehdl & FHgT I AR 3T TSIE! i Fifd 1 97 Fefatad & 9 g fean

ST & 92
(1) dra Rigwer = (2) TR PAR TERA
() wa T (4) i Y

69. TR i facehie ST = St T :
(1) IR g5 | STHREH % Agcd § Al & HAU | ARE fHTeH S 3R |
(2) = 2003+ 3H JF W F % I AR |
(3) 99 20037 T T SHAVT H o o7l U Tl |
(4) iAW ATHA FRA & o1 TF F

70. A¥WeT e FEfRad § @ e € 2
(1) TSR SR
(2) FTHEIR
(3) foxi qa =AUR SRR
(4) 7T R AR IR e

71. O oA & Sid HgEd 5T SRS = TT-8F & HIY Hrahaldl o o Tl i SRR
TN 3R 3] Yh FEfeAfad § & 9471 i o 3TIehi uTe fohar ?

(1) o qe et T3 & [E@elTh ThaiT RaTg T |
(2) 37T % fGe® HRETE HEAT ST qeh! [TaerT & faes & |
(3) = Tl % fge® e =i At o foraR & AT | et 89§ $hR Y fear e |
(4) oA THER Hf Fefqat § gedei HE |
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72. Match the List-I with List-1l and selecteéhcorrect answer from the codes given below :

List — | List—1I
a. Uniting for Peace Resolution . 1999
b. The Suez Crisis ii. 2002

c. UN Security Council Resolutioniii. 1956
on lrag weapons

d. UN Mission in Kosovo iv. 1950
Codes :
a b C d
Q) i i [ iv
(2) i i i iv
3) iv iii i [
@) i i iv iii

73. Match the List-I1 with List-1l and selecbrrect answer from the codes given below :

List — | Aist—1 |

a. Conventional Arms Cut Treaty © i) 1996

b. Strategic Arms Reduction Treaty-| f . % 1393

c. Strategic Arms Reduction Treaty-I| jii. "2#990
d. Comprehensive Test Ban Treaty iv. 1991
Codes : ) l

a b c d

() i iV i [

(2) i ii [ \Y

3) iv ii iii [

4 i iii iv i

74. The US stopped cultivating ties with Taliban regime in Afghanistan after
(1) 9/11 attacks in the US
(2) attacks on US embassies in Kenya and Tanzania
(3) attack on US military mission headquarter in Riyadh
(4) failures of talks on ggsipeline through Afghanisatan

75. Who among the following statesmersdebed USSR as an ‘evil empire’ ?

(1) John F. Kennedy (2) Ronald Regan
(3) Richard Nixon (4) Henry Kissinger
Paper-lli 30 JA-002-17

www.examrace.com



72, gEi-1 B gEl-1| T GAferd ST T e 53 T8 e ¥ W Sw 9

= - | = - |l

a. TIfq wedd & for ueh g i. 1999
b. @S T i. 2002
C. T AR GaHl G T WF iii. 1956

T INT, AT
d. ®EEH g T e iv. 1950
T4

a b C d
(1) i i i iv
) ii i ii iv
(3) iv ii i i
(4) i i iv ii

73, gEi-1 B gEl-1l F gAfed i a9 e 53 T 5 @ 9 Sw g

E.\Eﬁ_l -Hc\%ﬁ_ I &
a. URHRE FRER FHerdr G i. 16‘;{6 |
b. TR BfER wer -1 i. f19931 |
C. WM eER Hrdl i-IT i 1990) '
d. AT THETT Uicere Wiy iv. 1991 Hj
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a b C d
1) iii iv i i
) ii i i iv
@) iv i i i
@) | i iv i

74. TrefafEd B 9 69 921 & qvar smRe 3 TR § alfar 9= o Qi Tee THme 6
& ?
(1) 3R W 9/1 1 SR
(2) = AT FAFAT B STERID! TSl U STEHAT
(3) Far it ¥ fem qEerd I STk
(4) ST H Bl TR et T UTgUeTs U< Tl ol fahet g

75. fAfofad § 9 fFg IeHTae 3 g U9 T AR 6 T AT S E A ?

(1) S T e (2) T T
(}) f=e e (4) T TR
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